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I 20 mwn: dispute between nmn> "1/n"1 regarding application of v. 1
a  n":case where pm and pri are worth same amount and the carcass is worth nothing — split the prm
b amn : true; but it doesn’t take into account the end of the pya: applies when carcass has value which is also split
i explicatory #1712 0”1 understands .00 as a measure: we measure ¥z the depreciation from “live” to “dead”
ii  question: if so, what is the practical difference between them? Either way, »’tn and pr split on and carcass
iii  answerl: n%2) nna:
1 »77: belongs to pr (he sustains loss)
2 a7 "1 belongs to both and 11 sustains %2 the depreciation
3 Challenge:nn is more severe (to p>tn) than 7y, where the pri fully takes control of the n%2)
(a) Explanation: »"1 does have such a calculus later (0:7) — but that's based on v. 2
(b) And: nmn 1 explicitly rules that vis-a-vis PmbYwn, a bn can never be more severe than on
iv  Answer2 (2192 73): 1921 Naw
1 »”7 belongs to pr (he gains 100% of appreciation)
2 v 1. belongs to both - split appreciation
3 support: ' "1 wondered where we find a model where p1n gains — v. 2 indicates that ptn always pays
(a) Note: use of v. 2 is there to counter possibility that p1m cannot gain only when that is a loss to p17
(b) Challenge: according to N> '3, on could pay more than % damage — contra v. 1
(c) Answer: he reads (from o in v. 1) “halving” as loss made up through mn
I » mwn: parallels and distinctions between 1911 *pr3 and jynn *pn (examples are only distinctions)
a  nwa, Py jv: only he is liable, not his ox
b  battering his (owner’s) parents, starting a fire on naw: only ox is liable; he’s exempt (liable for capital punishment — n”a%p)
III  related discussion: Ran taught in presence of Ny " all P5pYpn are exempt (from liability for naw %15°n) except for Yan and yan
a  reaction: rejection (even those are exempt):
i 5ar only liable if he wants the blood (from the wound) for his dog
ii  7wap: only liable if his aim is to gain ashes
b Challenge: our nywn — compares owner::0x; just as ox doesn’t care about results, similarly he — and he is nn»m 2»n
i Answerl: ox::owner; just as owner does want it, so too with ox (e.g. wants ashes to scratch his back on)
ii  challenge: how can we compare ox::owner; we included nwa and a 11w could never have intent to shame
1 answer: liability for nwa doesn’t require intent to shame, just intent to hurt
iii answer2 (827): in our Mmwn, he is exempt even if he acted »w1 as per Mpm’s application of juxtaposition in v. 3
1 Note: even though mwn states ywa11 NTIw 190, means “if this were Tm...”
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